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Aadarl) XA |FroEoase [ RHBRUT|RHEERUT[HRHBRLUT 3.8 5.3 48 FE | 3-BSmStEER T E=4RADIQFS200
¥ LFEEH A |Frosoace | RHBFRUT|RHEERUT[HRHBRRLUT 5.0 75 7.0 HE | 2-BSmStEER T = 4RADIQFS200
FoT A | MEMA  |FrosoaceRHEEBRUT|REBREUT[REERUT 4.0 6.2 5.5 % | 1-BSREEEREE=4RADIQFS200
Yh1E FEEhA |Frogoges | RHEBRUT[REBRUT|REERRUT] 45 7.1 5.7 HE | 1-ASKsTARIEE=ZRADIQFS200




roLYD | IBEMA  |Frosoase | RHEEBRUT[HRERRLUT|RHEERUT 45 6.2 5.6 B | 2-BSREEER T E=4RADIQFS200
J0Ovyal)— | RBEHA  |Fresosse | RHEBRUT[RHERUT|RHERUT 4.4 6.1 5.8 B | 3-BSRSTEER T £=4ZRADIQFS200
roLYD | IBEMA  |Frososus | REBRUT[RERRUT|RHRBRREUT|] 45 7.0 6.2 HE | 1-BSKsTAREE=ZRADIQFS200
FoT YA | ARERMA [Frosiosee[RERRUT|RHBRUT[HRERERUT 46 7.1 6.0 B | 2-BSRSHEER T £=ZRADIQFS200
YT RO F| RN |Frogosue | RHBRRUT|REERUT[HRHRRLUT 3.9 5.4 5.1 BE | 1-BRKETEEEEE=2RADIQFS200
hoi+ IR |FrogoauB | RHEBRUT[RERRLUT|RHEERUT 46 6.9 6.0 FE | 3-BSMEtEERE = 4RADIQFS200
J—2JLAR IR |FrogoauB | RHEBRUT[RERRUT|RHEERUT 40 5.9 5.3 FE | 1-BSmETEERI%E £ =4RADIQFS200
FrRy PR |FrerEionen | RHBRUT[RHEBERUT|RHERUT] 4.1 5.8 5.6 HE | 4-BSKETAERIEE=4RADIQFS200
=D IR |FrogoauB | RHEBRUT[RERRLUT|RHEERUT 42 6.3 5.5 HE | 3-BSKsTAERIEE=4RADIQFS200
INgHA IR |FrogoauB | RHEBRUT[RERRUT|RHEERUT 3.8 5.5 48 HE | 3-BSKsTAERIEE=4RADIQFS200
A—RLRITL| FREMA  [Frososua[RERRUT|RHBRREUT|RERERUT 4.0 6.1 5.0 % | 1-BSKEEEEIE E=4RADIQFS200
1EHS hiAh N |Frosiose [ RHBRREUT|REERUT[HRHRBRRLUT 5.2 7.6 6.9 sEmIY| 3-&SMRETEERE E=4RADIQFS200
roLIYY | EfhN  [Frososus|RHERUT[REBRUT|RHEERUT] 4.9 7.2 6.7 HE | 1-BSKsTAERIEE=4RADIQFS200
roL2yYD | IBEMA  |Frososus | RHEBRUT[RERRUT|RHRBREUT] 4.3 6.1 5.8 HE | 3-BSKsTAERIEE=4RADIQFS200
%K EIMAHMA |Frogosue| RHBRFRUT|REERUT[HRHBRRLUT 4.2 5.9 5.4 85 | 2-B S KETEEEIEE=2RADIQFS200
h¥x Kithih[§ | Frosi0auB | RHBRUT|[RERFLUT|HRERERUT 3.7 5.3 5.1 24 | 1-BSKsTAERIEE=4RADIQFS200
%K Foh N |Frerionen | RHBRUT[RHEBERUT|RHEBERUT] 4.1 6.5 6.0 48 | 2-& &SR E E= ZRADIQFS200
1EHS BEHMA | Frosoase | RHBRRUT|REERUT[HRHBRUT 6.7 8.9 7.9 mEmIy| 1-8RKRSEEEIE E=ZRADIQFS200
h¥x Kithih [N |Frosi0auB | RHBRUT|[RERFLUT|HREERUT 3.7 5.3 5.1 %&T 1~ S 5T AE 8 £ = ZRADIQFS200
%K Fh N |Frerwionen | RHBRUT[RHEBERUT|RHEBERUT] 4.1 6.5 6.0 48 | 2-& &SR E E= ZRADIQFS200
AEHSGF )| HERMA [Frosoasa[RHEBRUT|RERRUT[RERRUT| 43 6.3 5.9 HE | 2-BSKsTAERIEE=4RADIQFS200
avxy SR  |Fmosioase | RHBRUT[BRHBERUT|RHERUT] 45 6.3 6.0 HE | 4-B K METEEREE=ZRADIQFS200
NgYA KRBT HO A [*Frorzonea [ HRHEER U T|RHBERUT[RERFELUT 4.6 6.6 5.8 HE | 1-BSmEtEER T = 4RADIQFS200
RoLIYD | FETHA  |Frgosse | RHBRUTREERERUT|HRHRBRUT] 44 6.3 5.7 HE | 1-ASKsTAERIEE=FRADIQFS200
¥ FrETHMA | FsersoRsE [ BRHERERUT|RHEBRRUT[HRERFELUT 47 6.7 6.4 FE | 4-BSmEtEERE = 4RADIQFS200
FrRY FETHN | Frosoasa | RHBRRUT|RHEERUT[HRERRLT| 45 6.5 6.1 HE | 2-ASKsTAERIEE=FRADIQFS200
X7 FrETHMA | FsersoRsE [ BRHERERUT|RHEBRRUT[HRERFELUT 4.4 6.0 6.0 % | 1-BSKEEERE E=4RADIQFS200
roLyYD | BRIEHA |Frozosee | RHEBRUT[RERRUT|RHBRUT] 3.9 6.4 5.1 HE | 4-BSIKsTAERIEE=SRADIQFS200
INDF— HERMMA |Frosonea | RHBRUT|[RERFELUT|HREERUT 5.2 7.7 7.0 FE | 3-BSmStEERE E=4RADIQFS200
TIHAX KEAHhA  |FrososnaRHEEBRUT|RERRUT[RERIUT| 41 5.9 5.5 24 | 3-& R mETEER EE=4RADIQFS200
JOyal)— IREHMA  |Frozoane | RHEERUT[RERRLUT|RHEERUT 42 6.1 6.0 FE | 3-BSmStEER T E=4RADIQFS200
INTYA WMEHRA  |Frozoae| RHBRUT|REERUT[HRHBRLUT 4.0 5.6 49 FE | 3-BSmStEERE E=4RADIQFS200
vyt PR |FaerEoA0e | RHERUT[RERRLUT|RHERUT 41 5.9 5.8 FE | 4B mETEERE = 4RADIQFS200
ZOyal)— IREHA  |Frozosoe | RHEERUT[RERRLUT|RHERUT 45 5.9 5.7 HE | 1-BSmkSEEE = 4RADIQFS200
1EHS IRBEHA | Frozoaa[REBERUT 9.8 BRHERRUT 7.4 8.9 8.0 gEmTy| 3-8 SHEsTAERIEE=ZRADIQFS200
)—= HIBH A |FaormoAoe | RHEERUT[RERRLUT|RHERUT 5.2 7.1 6.9 HE | 1-BSmkSEEE = 4RADIQFS200
FrAy WMEHR |Frozosos| RHBRRUT|RHEERUT[HRHBRLUT 4.6 6.7 6.4 FE | 4-BSMSTEERE = 4RADIQFS200
HhE HERMA |Frozor2a| BWERRUT|REERUT[REBRRUT 4.2 6.3 5.4 % | -2 RS8R EE=4RADIQFS200
¥ HERMMA |Frosoa2a| RHBRRUT[RERFELUT|HREERUT 4.0 5.6 5.1 HE | 1-B S8R E £=4RADIQFS200




HYIALE | HERMA |Frosoa2 8| RHBRRUT|RERFEUT|HREERUT 4.2 6.2 5.8 % | 4-B5KETEERIE E=4RADIQFS200
LAR BEHA  |Frososae | RHBRREUT|REERUT[HRHBRUT 4.1 5.8 5.4 % | 3-8 S KETEERIE E=4RADIQFS200
=P RRIEHA |Frogosae| RHBRRUT|REBERUT[HRHBRRUT 4.1 6.0 5.0 BE | -85 K85 E E= YRADIQFS200
NGB A BEHA  |Frososae | RHBRREUT|REERUT[HRHBRLUT 3.9 5.8 49 B | 4-BSREEER T E=4RADIQFS200
oLy | ERIEMMA [Frososaa|RHERUT[REBRUT|RHEERUT] 45 5.8 5.2 HE | 3-&KmETEER EE=SZRADIQFS200
fEN AT 4h AEETH A |Frorwon2e RHBRUT|BRHBRUT[RHEREUT| 44 5.8 5.6 B4t | 2B &R METEERE T = ZRADIQFS200
=D RKAGRMA |Frogioses| RHRFUT|REBERUT[HRHRBRRUT 4.1 6.2 5.4 BE | 1-BRKEEEHEE=FRADIQFS200
NGB A i | EsersofeB [ BRHEERUT|RHBERUT[HRERREUT 3.9 5.7 5.0 % | 1-BSKEEEEIE E=4RADIQFS200
FRXFx AIBETHL A | FrergioR2se | RHBR R U T RERRLUT 5.6 42 6.6 5.0 48 | 4-A & MRSHAERE E=ZRADIQFS200
1EHS BEHMA | Frososse | RHBRRUT|REERUT[HRHRBRLUT 3.9 6.3 4.6 mEmIY| 1-8HKR5EEEIE E=FRADIQFS200
1EHS WEMA | Faasofse [ RHRALUT|HRHERUT 5.4 45 5.6 5.1 mEmIy| 3-8 5 KETHERIEE=FRADIQFS200
1EHS EIMAHA |Frorzopse | RHEBRUT|RHERUT 5.2 44 5.6 5.0 mEmTy| 4-& S5 EEREE=FZRADIQFS200
—y BETHA | Frosiossa | RHBRFRUT|REERUT[HRHBRLUT 4.4 6.5 5.6 BE | 2-BRKETEEEEE=2RADIQFS200
HYURAE BETH N | Frososse | RHBRFRUT|RHEERUT[HRHBRLUT 4.3 6.5 6.2 85 | 2-B5KETEERIEE= FRADIQFS200
FrRyY RETHO | wrersionzen | RHBRUT[RHEBERUT|RHEBERUT|] 45 6.5 6.3 HE | 1-BSKsTAERIEE=4RADIQFS200
—y KETHON | Frerzoazea| RHEERUT|RHERUT[RHBRRUT| 250 6.0 6.0 EPEE | 1-CAPTUS-3000ARI & B S S BE Bl R 26 B
FrRy IREHA  |Frozonea[RHERUT|REBRUT[HRHEERUT] 49 7.0 6.3 HE | 1-BSKsTAERIEE=SRADIQFS200
1EHS BEHMA | Frososre| RHBRRUT|REERUT[HRHBRLUT 4.3 6.4 5.5 mEmIY| 3-8 S HEEER E E=4RADIQFS200
¥ BT HM A | Frorzi0R278 | BRHRRUT|RHEBRLUT[HREERUT 4.6 6.4 6.3 BE | -BRKETEEEEE=2RADIQFS200
HrME ABTHM A | Frerzi0R278 | BRHRRUT|RHEBRLUT[HREERUT 47 76.0 6.6 85 | 2-B5KETEERIEE= FRADIQFS200
Joyal)— E#hA  [Faozosza| RHEERUT[RERRLUT|RHEERUT 4.6 6.7 6.3 BE | 4-BRKETEE8EE=2RADIQFS200
7AFx hEFE A [Frozoara[RHBRUT|RERRUT[HRHEBRLUT| 46 6.0 5.5 858 | 1-B & mETEERIEE=ZRADIQFS200
wLoyHonyR)| FRIEHA |Frosoaae | RHBRRUT|REERUT[HRHBRUT 41 6.5 5.0 HE | 2-BSmStEER T E=4RADIQFS200
HhE KRBT HO A [Frorziofzea [ HRHEER U T|RHBERUT[HRERFELUT 45 6.6 6.4 FE | 4-BSmEtEER T = 4RADIQFS200
FrRy RAGRMA |Frogopse| RHBRUT[RERRUT|RHBRUT] 4.1 5.9 5.7 HE | 1-ASKsTAERIEE=SRADIQFS200
1EHS LFEEH A | Frososos | RHBRFRUT|RHEERUT[HRHBRRLUT 4.3 55 5.0 mEmIH| 488 KETEEEIEE=2RADIQFS200
= ) ehEK A Tz A28 RHBRUT|BRHBRUT[RHEBREUT| 4.0 6.2 55 Hx | 3- AR METEERE T = ZRADIQFS200
—ooy  |EAEKA|FRoE A28 | RHEBRUT[RERRLUT|RHEERUT 4.1 5.9 5.1 FE | 4-BSmEtEERE = 4RADIQFS200
NgYA HERMMA |Fraosnf4a8| RHBRUT|RERFLUT|HREERUT 4.4 6.1 5.8 HE | 1-BSmEtEER T = 4RADIQFS200
=D HERMA |Frrsn A48 BRERRUT|REERUT[REBRRUT 4.0 6.0 5.1 % | 1-BSKEEEREE=4RADIQFS200
1EHS HERMMA |Frrsn A48 BRERRUT|REERUT[HREBRRUT 4.0 5.2 4.7 gEmTH| 3-8 5 K58 E E=4RADIQFS200
A4y  |FBgEKA|Fre A8 RHEBRUT|RHERUT[HRHEERREUT 45 6.0 6.2 % | 2-BS RS8R EE=4RADIQFS200
HrME SREAF KA s A4 IRERR U T|RHBRRUT[RERRLUT 4.5 6.8 5.7 BE | -BRMETEEREE=2RADIQFS200
avyuT RERTHO N [FrorEn A4 RHEER U T|RHBRRUT[RERFRLUT 3.9 5.6 5.4 % | 3-BSKREEEREE=4RADIQFS200
INIY A | hEE AR Farsn 4B RERRUT[REBRRUT|HRERRUT 3.8 6.4 5.5 % | 1-BSREEERE E=4RADIQFS200
¥ hEF B AN | Farsr R4 | RERRLUT|REERUT[REBRUT 4.3 6.5 5.8 % | 1-BSKEEEREE=4RADIQFS200
¥ AN |FeoEnA4B| RHBRUT|RERFLUT|HREERUT 4.2 6.2 5.6 % | 1-BSREEEREE=4RADIQFS200
INgYA AN |FHoEn A4 RHBRUT[RERFRLUT|HRERERUT 4.0 5.7 5.4 % | 2-BS RS8R E E=4RADIQFS200
RoLIYD | DhihA  |FrosnAsE | REBRUT[HRERRUT|REBRUT| 4.3 6.4 5.6 HE | 3-ASKsTARIEE=ZRADIQFS200




I3% J\IBETHO N |FarenAse| RHBRFRUT|REBRRUT[HRHRBRRLUT 55 7.8 6.6 $5 | 2B METEERIE T = RADIQFS200
=P i N | EssnAeE[RHBRUT|RHEBRUT[HRHRBRRLUT 42 6.2 5.6 B | 2-BSRSHEER T £=4RADIQFS200
= ) RihhA  |EREnReE[HRERERUT|RHBRRUT[RERFREUT 4.6 6.6 4.6 BE | -85 K85 EE=YRADIQFS200
Iav Kithih[§ | Feos1 A6 | RHBRRUT|RERFLUT|HRERERUT 41 6.1 5.8 #$58 | 2-BSKEEERE E=4RADIQFS200
oA A AIBATHL A | Aon| RHBR R U T|REBERUT[HRHRBRRLUT 3.9 6.2 5.5 #58 | 3-BSMSTEERIE £ = 4RADIQFS200
=D AIBATHO A | Aon| RHBR R U T|REBRUT[HRHRBRRLUT 4.4 5.9 6.1 FE | 2-BSmEtEER%E E=4RADIQFS200
roL2YD | EEEHA |Frosnfa| RHEBRUT[RERRLUT|RHEEBRUT 3.9 6.0 48 HE | 4-BSKsTAERIEE=SRADIQFS200
Yr{E HPERMA |Frrznfoa| BHEBRUT[HRERRUT|RHEERUT 45 6.7 6.1 #48 | 1-BSMSTEERIE £ = 4RADIQFS200
1EHS BEFRHhA  [FmosiAI08 — BRHEBRRUT|BRHBRLUT — 7.1 6.1 EENIY 6-NDA
FRXFx BAFTh A [Frosimioa[RHERRUT|RHBRREUT[HRERERUT 3.9 6.2 48 48 | 4-A & MSHEERIE E=ZRADIQFS200
F7RXFx HEFEMA |Froziaioa[RHERUT|RHEBRRUT[HRHERUT| 40 6.5 5.1 $%58 | 2-B &R METHER EE=ZRADIQFS200
A4 (FE)| REBETHA |Frosnsion| BHEERUT[REBREUT|BRHERLUT] 38 5.7 5.2 HE | 4-BRMETEERE T = ZRADIQFS200
=D EEHMA  |Frosiane| RHBRRUT|REERUT[HRHRBRLUT 3.9 5.8 5.6 FE | 2-BSmEtEER%E = 4RADIQFS200
J0Oval— | FRRHA  [Feosisee | REBRUT[RHERRUT|REERLUT 3.9 5.8 5.0 HE | 1-BSKsTAERIEE=SRADIQFS200
DD (EEERR) | gt [Farsisea| REBRRUT[RHEERUT|REBRUT[ 4.0 5.6 5.3 HE | 4-BRMETEERE T = ZRADIQFS200
HI(BEE) [ RN [Frosisea|RHERUT[REBRUT|RHEERUT 4.4 6.4 5.9 HE | 2-BSKsTAERIEE=4RADIQFS200
¥ BHIUMA |Frosnsce| RHBRRUT|RHEERUT[HRHBRLUT 41 6.4 5.6 HE | 4-BSKsTAERIEE=SRADIQFS200
=P BN  |Frosnace | RHEBRUT|RERFLUT[HREERUT 41 5.9 5.5 % | 1-BSKREEEEE E=4RADIQFS200
INgYA BHIUHA |Frosisce| RHBRRUT|RHEERUT[HRHBRLUT 4.1 5.6 5.5 HE | 2-BSKsTAERIEE=4RADIQFS200
PEDI BIU#hA  |FrosnAce| RHERUT 87.4 474.9 6.6 7.8 9.7 +15 | 3-BSmsTAERIEE=4RADIQFS200
INF A RRIEMA |Frosigce| REBRUT|REBRRUT|REERLUT| 250 8.0 7.0 $48 | 1-CAPTUS-3000AR B RS HSTREAEEE
Id% PREMA  [Frosisce | RHEBRUT[REBRUT|REERUT| 4.9 7.2 6.8 B8 | 1-ASMETEERE = FRADIQFS200
TR PRERHA  |Faosnace | REBRUT[REBRUT|REBERUT|] 4.1 6.3 5.7 35 | 2-B & METHEREE=ZRADIQFS200
HURAER=FZ?)| WA [Frosoace|[RERRUT|HREERUT|RHERUT 3.9 5.8 5.4 FE | 4-BSmEtEER T = 4RADIQFS200
Huz1ER=2yY)|  FREIMA  |FrosnAce | RHBRUT[RERFELUT|HREERUT 4.2 6.3 5.9 FE | 3-BSmStEERE E=4RADIQFS200
¥ i |ErsnAre [ BREERUT|RHBRUT[HRERFELUT 4.4 6.5 5.7 HE | 2-ASKsTAERIEE=FRADIQFS200
=P BRI  |Frosnare| RHBRRUT|RHEERUT[HRHBRLUT 4.8 7.1 6.4 FE | 4-BSmEtEER T = 4RADIQFS200
NgYA REETHO A [z are[RHEERUT|RHBRUT[RERFELUT 4.3 6.1 5.7 HE | 3-ASKsTAERIEE=4RADIQFS200
Jovay—m)R)| FARIEMA |Frosiare RHBRRUT|REERUT[HRHEBRUT 40 6.2 5.3 HE | 2-ASKsTAERIEE=SRADIQFS200
HFE K SRR |FroEnaee | RHBRUT|REERUT[HRHBRLUT 3.6 47 48 #FK | 1-B R EEER EE=ZRADIQFS200
HYIMLE FAMA |Froznaee| RHEBRUTREEBERUT|HRHRBRUT|] 250 8.0 7.0 B | 1-CAPTUS-3000ABI A S S MATEE B BB
HhE BRI | FroEiaee | RHBRUT|REERUT[HRHBRLUT 4.3 6.2 5.4 HE | 3-ASKsTARIEE=FZRADIQFS200
RoLIyYD | s [Feosnsea| BHEBRUT|BREREUT|RHEBRUT| 4.2 5.9 5.1 B | 2-& &R mMEtEE8 % £ SRADIQFS200
NgHA FHTHA  |FrosnssaRHEEBRUT|REBRRUT[RERRUT| 45 6.0 5.5 FE | 4-BRMEEERE T = SRADIQFS200
T4 (FA9E)| FAETHIAN | Frosnaee | RHBRUT|REBERUT[HREBRUT 4.0 6.0 5.3 HE | 3-ASKsTARIEE=FZRADIQFS200
FAD(IILI)| FHETHOPN [FrorsnAsa|@HRRUT[RHEEBRUT|MERRUT] 4.7 6.5 5.8 FE | 2-ARKEEEREE = SRADIQFS200
AEHS BEHA |Frosnpee|BEBERUT|RERREUT|BEERLUT 25.0 6.0 6.0 BEMIY| 1-CAPTUS-3000AR! & S S STRE IR E
7AFx B A |FaoenRe RHEBRUT|RHEERUT 5.3 4.6 6.7 5.1 28 | 2-B &S METEERIE = ZRADIQFS200
Va3 A RIHAN  |FrosnAee | RHEBRUT[HREBRRUT|RERREUT| 40 6.6 4.9 #58 | 4-A R KEHAEEIE = ZRADIQFS200




=LY HIUMA |Fsogison | RHRREUT|REERUT[HRHRBRRLUT 42 6.2 5.5 B | 2-BSREEER T E=4RADIQFS200
P RAVE B  |Frosnpee | RHBRUT|RERFEUT[HREERUT 3.9 5.4 5.3 % | 3-8 S KETEERIE E=4RADIQFS200
JOyal)— HIUMA |Fogison | RHRFREUT|REERRUT[HRHRRLUT 46 6.8 5.8 B | 2-BSREEER T E=2RADIQFS200
=P Kithih[§ | Frosnp2e | RHBRRUT|[RERFLUT|HRERERUT 4.0 5.9 5.3 % | 4-B5KETEERIE E=4RADIQFS200
NGB A Kithih[§ | Frosnpa2e | RHBRUT|RERFLUT|HRERERUT 4.3 6.0 5.3 FE | 3-BSmEtEERE = 4RADIQFS200
a3 A Kithih[§ | #Frosnp2e | RHBRUT|RERFLUT|HRERERUT 4.4 5.7 5.1 5 | 2-B5KETEERIEE= FRADIQFS200
TOYYXTA| KtihN  |Faosiaee | RHBRUT[BRHEERUT|RHERUT 4.4 55 5.0 5 | B8 KT EERIEE=FRADIQFS200
FOA7)L—Y| EQRI#A |[Froznpan — BRHBRUT|[HRERRUT — 49 5.8 214 7-NDA
FrRy TR |Frosisen | RHBRRUT|REERRUT[HRHRBRRLUT 3.8 5.7 4.8 % | 1-BSKEEEEIE E=4RADIQFS200
Ry |HEF B R A Frrsnfse [ REERUT|RHBRUT|[RERREUT 4.4 6.8 6.2 FE | 1-BSmETEERI%E £ =4RADIQFS200
Hho WEMA [Frosissa|[RHEBRUT|REERUTRHEERUT|] 38 5.7 48 HE | 1-BRKETEEREE=ZRADIQFS200
¥ =B A |FrosiRee | RHEEBRUT[RERRLUT|RHEERUT 4.4 6.0 5.4 BE | 1-BRKEEEHEE=FRADIQFS200
NI A =R E AN |Frosiase | RHEBRUT[RHERUT|RHEEBERUT] 4.2 6.2 5.5 HE | 3-BSKsTAERIEE=4RADIQFS200
1EHS WMEHA  |Frosisse| RHBRFUT|RERERUT 4.8 4.1 5.3 4.7 eEmTH| 1-B8KETEEEIEE=2RADIQFS200
FOA7)—Y| AERMMA |Frosip2ea | RHEBRUT[REBRFLUT|HREERUT 4.3 6.0 5.5 28 | 1-BSKEEEEE E=4RADIQFS200
/08B )| AARMMA |Frosia2ea | RHEBRUT[RERFLUT[HREERUT 3.7 5.1 4.7 mEmIy| 3-8 RKRSEEEIEE=FRADIQFS200
1EHS BEHA | Frosisse | RHBRRUT|REERUT[HRHBRLUT 4.5 5.8 5.2 mEmIY| 2-8RKRSEEEIE E = ZRADIQFS200
=P A |FrosnA2e | RHBRUT|RERFLUT|HREERUT 4.0 5.5 5.1 BE | 1-BRKETEEEEE=2RADIQFS200
hE —ARARH#A |FroEnA08 | RHBRUT|[RERFLUT[HREERUT 4.3 5.8 5.4 i | -BRKETEERIEE=2RADIQFS200
INgYA —ARAKRH#MA |FroEnA08 | RHBRUT|[RERFELUT[HREERUT 3.8 5.9 4.9 BE | 2-BRKETEEEE=2RADIQFS200
=P —ARARH#MA |FroEnA08| RHBRUT|[RERFLUT|HREERUT 4.1 5.8 5.8 BE | 4-BRKEEEHEEZRADIQFS200
T+ —ARAKR#MA |FroEA0e | RHBRUT|[RERFLUT[HREERUT 4.2 6.3 5.1 BE | 1-BRKEEEEEEZRADIQFS200
¥ =B A |FroEiRAee | RHEERUT[RERRLUT|RHEERUT 41 6.0 5.9 FE | 4-BSmEtEERE = 4RADIQFS200
T7AF INRHW A | T AsE [ RHBRUT|RHERUT[HREERUT| 45 5.7 6.0 858 | 2B & mETEERIEE=ZRADIQFS200
1EHS RRIEHA |Frorsiason| REBERUT 6.6 BRHEBEFRLUT| 44 5.6 5.0 mEmIy| 3-8 SKETAERIE E=4RADIQFS200
HYIALE | —KRKRHA |Frosnp0e| RHEBERUT|[RERFLUT|HREERUT 4.1 6.4 5.5 % | 2-BS RS8R E E=4RADIQFS200
A Xy | —ARKHA |FrerEiaoe | RHEBERUT[RHEERUT|RHERUT 4.4 6.6 5.9 FE | 3-BSmStEERE E=4RADIQFS200
FALav HERMMA |Frosnae| RHBRUT|RERFELUT|HREERUT 43 6.3 5.4 FE | 3-BSmStEERE E=4RADIQFS200
oxooa | HERMA [Frosipe[RHERRUT|RHERUT[REERUT 42 6.3 5.5 HE | 2-BSmStEER T E=4RADIQFS200
INgYA FERMA |Froziaoa| RHEERUT[RERRUT|RHERUT] 4.2 6.7 5.6 HE | 2-BSmStEERE = 4RADIQFS200
INTYA FETHHN | Froeiasos | RHBRUT|RHEERUT[HRHBRLUT 41 5.8 49 HE | 1-BSmkSEEE = 4RADIQFS200
FOA47)L— BERTHhAN  |FeosrA 8| RHBRUT[RERRLUT|HREERUT 3.8 5.7 5.2 8 | 2-B SR8 E E=4RADIQFS200
7AF SERMMA  [Frosef B RHBRUT[REBRUT|EEBRLUT] 250 8.0 8.0 $58  | 1-CAPTUS-3000AR B R E AL EE
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